$62 FHE
£ SE B ] J R SO BENL AR & 5 Y (E 1
i BSFE B, B EX-EX|, HAT7fE; Frld
WHEHEX -EX) RE=MILA= X H5HY
{8 EX 1 fh =5 RS
1. X

WX PN, B EX - EX) 1RA4E, FRH

HBEALARE X B 7S, iefE DX, Var(X), EJ:
DX=Var(X)= E(X - EX)* o DX W HFRUEZ

DX = E(X - EX)? —Z(x—EX) py AL

DX = j(x EX)? f(x)dx 5 LI



e 72l T REALAS ) BE S A E )
RRERE

Jr 2= n] iR i 2K A
DX =EX*—(ExY)
Uk BH

Dx=EX-Ex)
- £(x>* - @EX) x+(EX))
-Ex?-(QEX) Ex+(EXY
- Ex?—2Exy +(EXY)
=ExX*—(Ex)



113

L AP, AT S AP R 3R 45
X: HG A B
Y: L AL

X 8 9 10
P 0.3 0.2 0.5
Y 8 9 10
P 0.2 0.4 0.4

EV 1L e ANV 5 N S



w13 (&)

fif:

LLEL AN NI A28

HH )~ F- 38 A 50 R

EX =8%03+9%02+10%05=9.2 (f)
LI A
EY=8+02+9%04+10%04=92 (%)

Kk, WP EE, W AWK TR 2+
(K1, AR NS e A 5 2293 930 N




w13 (42)

DX =08-92)+03+(0-92)*02+(10-9.2)#0.5
=0.76
DY=08-92F*02+(0-92)*04+(10-9.2) *0.4
=0.624

41F- DY < DX,

XKW LS /K E FFARE



2. T ERME DX = E(X - EX)*
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